
qm=;+= ;fdflhs If]q ljsf; k|:tfljt /sd s}lkmot g=kf=

    1  o; gu/kflnsf If]q leq ePsf db;f{ ljBfno dd{t tyf ljBfnox?sf] 
z}lIfs u')f:Q/ Aoj:yfkg sfo{ ug]{           1,500,000.00 

    2  lzIff          3,000,000.00 
 s=  jx'd'vL SofDk; xl/k'/ ?= 12,00,000.00 

 v 
 gu/kflnsf leqsf ljBfnox? dd{t tyf afnljsf; lzIfsfnfO{ dfl;s 
1,000.00 sf b/n] k|f]T;fxg / af+sL /sd cg'bfg Aoj:yfkg ?= 
18,00,000.00 

   3  :jf:Yo           2,250,000.00 
 s  lk*f/L jly+u ;]G^/ ;+rfng ?= 9,00,000.00 
 v  hfgsLgu/ jly{+u ;]G^/ ;+rfng ?= 7,00,000.00 
 u  dlxnf :jf:Yo :jod\ ;]ljsf k|f]T;fx ?= 4,62,000.00 

 #  clt ljkGgnfO{ &'nf] /f]u nfu]df oftfoft vr{ jfkt k|ltAolQm ?= 
5,000.00 sf  b/n] ?= 1,88,000.00 

    4  vfg]kfgL tkm{ gu/kflnsfsf] ;Demf}tfdf ePsf] ;+:yfsf] nfutdf lgdf{)f 
sfo{ ug]{          1,000,000.00 

    5  PS;/] d]lzg ?= 12,00,000.00, ;e]{ n]jn d]lzg ?= 7,00,000.00, 
nIdLk'/ :jf:Yo rf}+sL Nofj Aoj:yfkg ?= 3,00,000.00 n]Gy :kf]s  tyf 
?= :af:Yo lzla/df vr{ 6,00,000.00          2,800,000.00 

    6 
 cltljkGg %f]/f gePsfnfO{ 8 j^f kl/jf/nfO{ cjf; #/ Aoj:yfkg ug]{            900,000.00 

   7  h]i& gful/s, Psn dlxnf / czQm ckf+usf] ;Ddfg sfo{qmd          1,300,000.00 

   8  blnt rdf/sf] hUuf ahf/df clwu|x)f cfPsf]n] lghnfO{ af;  
Aoj:yfkgdf lgdf{)fsfo{ ug]{           1,200,000.00 cfGtl/s

   9  wd{ rf*df ;f+:s[ltx? k|f]T;fxg ug{ ;xof]u ug]{           204,488.00 
  10  %& #f^ gu/kflnsfaf^ k'j{ hfg] af^f] k'nsf] %]pdf lgdf{)f ug]{            200,000.00 
   11  v]ns'b ljsf; ug[{            400,000.00 

  12  ;fdflhs s'l/lt b'j{Aojxf/ cGTo ug{ dlxnfx?nfO{ clwsf/ ;DjGwL 
hgr]tgfd'ns tflnd k|lzIf)f ug]{             300,000.00 

  13  l;+rfO{ gof+ s'nf] lgdf{)f sfo{{ lk*f/L 9 vf]nfkf/L ug]{            300,000.00 

  14  PDj'n]G; tyf cfazos ;jf/L ;fwg vr{ ug]{ af+sL sG^h]G;Laf^ vl/b 
u/L vr{ ug]{          1,000,000.00 
 hDdf        16,354,488.00 

1 ef}lts k'jf{wf/ lgdf{)f >L kf+rs'df/ df=lj= 500,000.00           
2 ef}lts k'jf{wf/ lgdf{)f >L xl/x/ hgtf lg=df=lj= 200,000.00           
3 k|fljlws lzIff >L xl/x/ hgtf lg=df=lj= 130,000.00           
4 jfof] lkmN^/ -^of+sL_ ljkGg kl/jf/nfO{ 200,000.00           hu]*f sf]if

5 n}+lus ljsf; tyf ;fdflhs ;dfj]zLs/)f 150,000.00           
6 wd{ ;+:s[lt tyf rf*kj{ 76,000.00           

gu/ :tl/o

j*f g+= 1

xl/k'/ gu/kflnsf

lzIff, :jf:Yo, dlxnf ljsf;, n}+lus ljsf; tyf ;fdflhs ;dfj]zLs/)f, jfnjfnLsf, vfg]kfgL tyf ;/;kmfO{ tyf cGo 
sfo{qmd



7 btf{ ePsf o'jf SnjnfO{ *«]; tyf v]ns'b ;fdfu|L 30,000.00            
8 l;=Pd=;L= ejg dd{t tyf /+u/f]ug 240,000.00          
9 xofkL k':tsfno Aoj:yfkg 60,000.00            

hDdf 1,586,000.00         
1 dlxnf ;r]tgf -sfg'gL lzIff_ tflnd 100,000.00           
2 o'jf v]ns'b tyf cGo sfo{qmd 100,000.00           
3 jfnSnj :Q/ ;'wf/ 50,000.00            
4 blnt afnjflnsf ljBfno kx"+r sfo{ 50,000.00            
5 ;fgf] hutk'/ 2 sf]&] ;fd'bflos ljBfno 150,000.00           
6 k|fljlws lzIffsf] nflu ljBfno cg'bfg ;xof]u ;fgf] hutk'/ 150,000.00           
7 n}+lus ljsf; tyf ;fdflhs ;dfj]zLs/)f 150,000.00           hu]*f sf]if

hDdf 750,000.00          
1 cfwf/e't ljBfno km/xbjf jfnjflnsfx?sf] z}lIfs u')f:tl/o sfo{qmd 200,000.00           
2 vfg]kfgL xof)*kfOk h*fg lgdf{)f sfo{ 350,000.00          hu]*f sf]if

3 wfdL{s ;f+:s[lts ljsf; 100,000.00           
4 v]n d}bfg df^f] k'g]{ sfo{ 100,000.00           

hDdf 750,000.00          
1 df=lj= x/}ofsf] sDkfp)*jfn lgdf{)f sfo{ 600,000.00           
2 d& dlGb/ k'hfjfkt vr{ -/Hjf lzjfno_ /fhb]jL dfO{ u(LdfO{ / dxfjL/hL jfjf_ 40,000.00            
3 vfg]kfgL xof)*kfOk h*fg lgdf{)f sfo{ 100,000.00           hu]*f sf]if

4 zf}rfno ;/;kmfO{ -sfof{no tyf ;fj{hlgs rkL{_ 15,000.00            hu]*f sf]if

hDdf 755,000.00          
1 db/;f c;/lkmof ul/j gjfhsf] %t tyf ;^/ lgdf{)f 500,000.00           
2 dh'jf{ ahf/df zf}rfno lgdf{)f 500,000.00           
3 n}+lus ljsf; tyf ;fdflhs ;dfj]zLs/)f 100,000.00           
4 cw'/f] dx:hLb %t (nfg 500,000.00           
5 s'?jf sIf Aoj:yfkg nIdLk'/ aly{+u ;]G^/ 100,000.00           

hDdf 1,700,000.00        
1 ;fj{hlgs cf=lj= nIdLk'/df kmlg{r/ tyf lkmN*df df^f] k'g]{ 500,000.00           
2 db/;f uf}l;of /hfpn cf]n'dsf] lh)f{ ejg lgdf{)f 1,000,000.00         
3 n}+lus ljsf; tyf ;fdflhs ;dfj]zLs/)f 120,000.00           
4 s'?jf sIf Aoj:yfkg nIdLk'/ aly{+u ;]G^/ 100,000.00           
5 xof)* kfOk h*fg tyf dd{t nIdLK'/ ahf/ 30,000.00            
6 bx]h k|yf cGtsf] nflu sfo{qmd ;+rfng 200,000.00           hu]*f sf]if

7 dlxnf :jf:Yo tyf Ifdtf clej[l$ ;DjGwL hgr]]tgf sfo{qmd ;+rfng 200,000.00           hu]*f sf]if

hDdf 2,150,000.00         
1 ;fd'bflos hx/ jfjfsf] ejg lgdf{)f 100,000.00           
2 a|x\d:yfg lrtfOgsf] sDkfp)* jfn 100,000.00           
3 ;fd'bflos xg'dfg dlGb/sf] wd{zfnfdf emofn, (f]sf  / e'O{ (nfg 200,000.00           
4 wd{ ;+:s[lt hu]{gf 50,000.00            
5 d';x/L ^f]ndf e'Oof :yfg lgdf{)f 50,000.00            

hDdf 500,000.00           
1 h'^kfgL a|xdsf] #]/f j]/f ;+:s[lts hu]gf{ 150,000.00           

j*f g+= 8
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2 lutf kf&zfnfdf zf}rfno lgdf{)f 50,000.00            
3 xl/k'/ a|x\d:yfg ^«:^ lgdf{)f / jfn sDkfp)* 300,000.00          
4 uf}/Lz+s/ ;fd'bflos ejg #]/fj]/f 150,000.00           
5 cflbjf;L tkm{ hutk'/df rf}tf/f lgdf{)f 100,000.00           
6 n}+lus ljsf; tyf ;fdflhs ;dfj]zLs/)f 150,000.00           hu]*f sf]if

hDdf 900,000.00          
1 /fdnug df=lj= kn; 2 ;+rfng ;fdfu|L vl/b 200,000.00           

2 dlxnfx?sf] l;kd'ns sfo{qmd ;+rfng -l;nfO{ s^fO{, d}gjtL, ;fj'g, 
cu/jtL, ;/km_ 200,000.00           

3 :jf:Yo lzlj/ sfo{qmd 150,000.00           
4 wd{ ;+:s[lt tyf hft hfltx?sf] rf*kj{ sfo{qmd 100,000.00           

hDdf 650,000.00           
;Dk')f{ s'n hDdf 26,095,488.00      

j*f g+= 8

j*f g+= 9


